F£478 11/18 ~ 11/24
ElA=3 BEX | PR [ TERX | #ERX | EX AxX | mEK | TR B
AR HR 8 13 21 1 6 21 37 28 135
BEIZ R 1 3 3 4 2 13
ERERE2 M/ BB 1 3 2 6
B ¥ 8 13 22 1 1 9 24 44 32 154
E 4658 11/11 ~ 11/17
E[A=3 EX | PR [ TERX | ERX | X AxX | AERX | RS B
AZVESBR 1 8 16 4 2 3 3 37
BRIZER
Bk Hh/ 3 A 1 2 1 4
B ¥ 1 8 17 4 2 5 4 41
4558 11/4 ~ 11/10
E[4=3 BEX | PhRX | THEAR | RERX | R AR | w3 | TaS .11
AZIE BN 1 2 1 4 8
BRI 1 1
ERERRZ R/ B A EA
B ¥ 1 2 1 1 4 9
F44;8 10/28 ~ 11/3
E[d=3 BEX | PR | TEAR | REX | ER AR | mERK | eS8 K
AZIESBR 2 1 1 4
BEIZ M
EREEEZ M/ B AEA
B B 2 1 1 4
E 4358 10/21 ~ 10/27
E[4=3 BEX | PR [ TER | #ERX | ER AX | mEK | eS8 Bt
AR HR 1 2 3
BEIZ R 1 1
EREREZ M/ B A
7Y 1 1 2 4
EA42:B 10/14 ~ 10/20
X EX | PR [ TR | #ERX | ER AX | mEX | RS B
ARIES 2 5 7
BEIZ R 1 1
ERER 2/ B AEA
a B 2 6 8
F£418 10/7 ~ 10/13
E[d=3 EX | PR [ TERK | #ERX | EX X | mEK | a8 B
ARIZ 2 1 1 4
BRI
ERER 2/ B AEH
B B 2 1 1 4
E4058 9/30 ~ 10/6
= E[4=3 BEX | PR [ TERX | ERX | X AX | AEK | a8 B
A l-é/?\ ‘I 1
BRI
BREREZ /2 A
O 1 1
398 9/23 ~ 9/29
E[d=3 BEX | fRX | THEAR | RERX | ER AR | mER | e E K
AR B 1 2 3
BRI
ERERRZ R/ B R EA
B ™ 1 2 3
3858 9/16 ~ 9/22
" E[d=3 X | PR | ThEARX | ERX | ER AR | mEK | TaE K
AR
BEIZE 3 3
EREEZ M/ B A EA
B ™ 3 3




